DERNATNE P@Acnai
' Ca '[-Q ‘/’[q_ /{gr\fmkw, -P(x) -ﬂv

T X““Z’(:r 1 )L 12
x%) dx Z x) ’-GK x l *
5& P) “zx }__ (14 2x2) [XT%l.x‘)(‘x + 25
1 (Hlx\(?x—é) -~ (x*0(x) (‘hc)
T (H— ?.xﬁi_

Bx" =6 Fhx'- 2= Yxd 4 24xr

(1+2x?)?
_ 2x '+ [Sx*-(
(Le2xd)? v

ﬂa Py = xos(x) = X Sin(x)
-F(x\ - ,,{,([K Cos(x) —~ \’S\nfﬂ] T dy [XCDS(X\] JX[K SM(A’)]
= (% ]:x‘] Cos () + X" j’;[&s(xﬂ} "‘(i[([x] Sulx) + X j{*x [S;...Or)j)

= W los() + X7 (-5.6d) = S ()= x & (e )
T xGsON — (HHsex) VA

L- -P(ﬂ‘ E:S-E’:_)

Co‘S(.’Qiz ( (X \f[ (xA]
g’-— ‘C("'* C«sbd] [Kco;l(x\ PR
L CaS Z,( (X-t](-s n..(x}\
Cos(x)

— A< losfx) + O-0)S anl)
Cos'LCx) F'Zl




__Z- ]EMA o e‘[“""“”\» 4’0 -"LL 1’*4"7;»'1' /el-t 1‘\ J-—ch) A-‘L X =
Lo U=x’"+ 'L?E“D) on=5
S&\-: U-—-Jo = A (>< - Kp) < sz/a‘lﬂnﬂ u‘p a /q.\g__

P = 2e =I5 = e - =

"z g () s 2S- - pp-2- L2
TS, gy e

y-lg= F-s5) 12

AN J**(gx—x")('S—-x-xz), o= |
__S_:_l_‘- tjﬁjb——-w(x-xb) = 57‘,,.,7{&,\,‘ A ~lg
J’(n\ = ﬁbx-xl]b—x—x‘) + (3x-x7) ;(”& [5-x-x7]
= (3-20)(3-x-x") + (3x- X ~1- 2x)
= 90) = B2 (3 1=1) # (o0-17) (1-20) = 1+2(3)= =S
Xe= I, g2 y0) = (- 0Gm1-) = 20 = 2

j-—Z‘-'- ““S(z(-—l\ %




uSQ- H‘L ‘100{\1’.'«1' l‘v‘L 6“4 ‘lra"jo»ownealn'c_ IJI.A:L‘LP{\‘QS 4 SL..
3. izl}“‘(ﬂ] in Se.c. € x)
: S: x Co (x),‘é;[&‘:..(x)_]-S.i.(x).‘ég Gos(x)
Soli | tmta] = £ [ S]] ~ Calodlsebil [
= Cos(rf-\ Cs (<) = Sanlx) - (=Sum(x)
Cos ()

= GfEDESm) o L - g k) W

CsT0x) Cos(x)
[ Sec )]s Sectey b ()

L %
ﬁ §.¢_(_(x)]-_- i—[c-ojs—m L CDS("LérI]— |- ilcgs(x)[

(Gs(x) )™=
+ Gs(®)-0— (=si(x)
Cos (=)

= Swmix) - | LSl . j
Ca T TGy sty T Sl

3L
ol

3.& ;%:[Cscbq} = — Csc(x) Gt (x)

Sl jL[CSc(x) J_[su(n L S\"M'%{Q(;)‘{#[&Hﬂ]

= S_nq(k] Q — _C_:OS-(")

ga\ﬂ?—(r‘c]
SRUNTAVTES N AT
Satlx) Silx)  Sm(x) Csc(x) CO{'(K\ @

30 Eetta] = —Cscx)
= i% C“’H’q] il sl | = Sin (1 e [st] ~ Gse1 L 5 (1]

(Smlay-
- Sin(x) (S () — Cos() - Gos(x)
San (x)

= — [ 3 k) + Cos™(x)
Smt(x)

™ e

3 7.(,(\ =~ s 7z



(chobe Ho indicded L Jau— decivebve .

la. j;‘[_ﬂ)] fj“co‘;%(—x—

l:’i{‘} L ‘J{;[Mﬂ o xi[cos(x{(;r-(os(x)fé[ﬁl | ~xs.».(x)— Cos(x)

= =
%

x* <

_(131_.__ jl';[ — XS, 0()" &S{Xl}: X-Lé[")(&h(x]"‘é_((x_, (}(Sh(x) st\ 3;[}(7
)(7‘( ;('i[—x] Sialx) +(-x)i;[g,;(x) - (-S,L,(x)) t (XShlq +4,s(x)\ ('vc)

- X (-S-\n(zd —Klos (x) — Cos(x\\ v (ZKSM(K\ + ?_b%(x.'))
q

X
o (X Sul) — XGs(x) X%s (x) + 2x Sulx) + QLs ()
X
_ (—x‘*mzzccgs_(x\ S

b
%' aix_'l’[xl+3x"7] 4= X +3x—1
3

M:f{‘i:FZXJ-B) cééz—;’z_ ) é?g:' O @

lhe. g{ [m(x\] Y= Sec(x)
S,‘ ;|;! olx[Sw(Kﬂ = Sec(x) t=n(x)
e [Su(x\ "ren(x\] [Sec(x]{-m () + Secx) L, [{—m.&)]
= Sec O hule) (i) + Secl) Sece) = Seclic) ((ban'te) + Sece))

Gy alxsi] st

2= Alsntey ochlsmm] = Swix) +x6s &)
‘Eﬂ :a-é-is,\n(ﬂ 1X CoS(xﬂ > Gs(x) + gé;[x] Coslx) + X;é—t[cojk)]

= 2l - XSux) 4




